TH3 1 FERRBLAUFRBARABRMHERE (3 2FEKA) KR

S I S S ST I O
PR - 2R - B R (4) (4) (4) (#) () Prnsig
A B A/B )
IR AR 3, 681 3,263 1,588 2.1
INFRR AR (BRa—X) 37 29 12 2.4
INERERRE (G —R) 44 36 14 2.6 581
INERERRE A 1,570 3, 762 3,328 1,614 2.1
E 3% 699 575 211 2.7 69
HuE 844 703 119 5.9 49
FAYES 349 280 45 6.2 17
s 839 682 201 3.4 86
Py 211 172 40 4.3 23
I BER b 236 197 52 3.8 37
£ 243 200 46 4.3 25
e 747 606 222 2.7 86
iEE 198 159 49 3.2 20
e 167 126 38 3.3 24
TRIEAE 1,294 1,137 166 6.8 52
N 1,110 5, 827 4, 837 1,189 4.1 488
s 258 228 67 3.4 31
s - e E e 160 131 64 2.0 34
N 100 418 359 131 2.7 65
A e g3 30 157 131 47 2.8 19
oA Bt 40 57 48 35 1.4 0
fi 4 52 42 1 42.0 2
GES 75 61 1 61.0 0
bk 21 19 7 2.7 3
BER 22 17 7 2.4 4
T¥# L% 2 2 1 2.0 0
R =i R 13 12 2 6.0 3
TR 3 3 1.0 0
FERES 13 2 4.5 2
Ji= 3 i 7 2 3.0 2
i 3 1 2.0 0
/R 40 211 173 27 6.4 16
AN - 60 330 263 87 3.0 47
e | H FiT4 6 3 3 1.0 0
=y 40 32 13 2.5 8
g 126 100 27 3.7 17
s | B 19 13 6 2.2 3
M e 22 20 9 2.2 3
P ik 37 32 2 16.0 5
TREEIRE 147 132 25 5.3 16
. s 30 25 17 1.5 1
o E 21 18 11 1.6 2
[
FJE 19 14 4 3.5 3
/N 100 461 386 114 3.4 58
B HT4 15 10 1 10. 0 1
ERvAL ) T4 4 2 1 2.0 0
FERISR R 160 816 664 206 3.2 106
B 80 886 744 88 8.5 70
HUR BRI AAE & % & LT R 804 FE 80 79 73 1.1 5
A TR 51 5 HRALRHE 2 SRR el e T4 2 2 1.0 0
SR DK TEHLS RS A A B ET4 1 1 1.0 0
PR MR 51T B BRI SRR A A ET4 0 0 0.0 0
I E R B i 54 LA 12 12 5 2.4 0
& #t 3,215 12, 230 10, 378 3,418 3.0 1, 650

KAR—Y « b - ZFHNEE (54) 13BR<,




